



اسم: _____

التاريخ: _____ النتيجة _____

$$7^{(-1)} - (-6) =$$

$$6 - (-1) =$$

$$(-7)^{(-1)} + 2 =$$

$$9^{(-2)} + (-3) =$$

$$5^{(-2)} + 8 =$$

$$(-6)^2 + 8 =$$

$$8^{(-1)} - (-8) =$$

$$(-1)^{(-2)} - 10 =$$

$$(-3)^0 + (-7) =$$

$$10 + 4 =$$

$$(-10)^2 - (-6) =$$

$$(-4)^{(-2)} + 9 =$$

$$7^{(-1)} - 5 =$$

$$1^2 - 10 =$$

$$7^2 - (-9) =$$

$$3^2 - (-5) =$$

$$(-8)^{(-2)} - 4 =$$

$$(-1)^2 - (-6) =$$

$$7^2 + (-5) =$$

$$5^2 - 6 =$$



اسم: _____

تاريخ: _____ النتيجة _____

$$7^{(-1)} - (-6) = \frac{43}{7} = 6\frac{1}{7}$$

$$6 - (-1) = 7$$

$$(-7)^{(-1)} + 2 = \frac{13}{7} = 1\frac{6}{7}$$

$$9^{(-2)} + (-3) = \left(-\frac{242}{81}\right) = \left(-2\frac{80}{81}\right)$$

$$5^{(-2)} + 8 = \frac{201}{25} = 8\frac{1}{25}$$

$$(-6)^2 + 8 = 44$$

$$8^{(-1)} - (-8) = \frac{65}{8} = 8\frac{1}{8}$$

$$(-1)^{(-2)} - 10 = (-9)$$

$$(-3)^0 + (-7) = (-6)$$

$$10 + 4 = 14$$

$$(-10)^2 - (-6) = 106$$

$$(-4)^{(-2)} + 9 = \frac{145}{16} = 9\frac{1}{16}$$

$$7^{(-1)} - 5 = \left(-\frac{34}{7}\right) = \left(-4\frac{6}{7}\right)$$

$$1^2 - 10 = (-9)$$

$$7^2 - (-9) = 58$$

$$3^2 - (-5) = 14$$

$$(-8)^{(-2)} - 4 = \left(-\frac{255}{64}\right) = \left(-3\frac{63}{64}\right)$$

$$(-1)^2 - (-6) = 7$$

$$7^2 + (-5) = 44$$

$$5^2 - 6 = 19$$